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Question 1.Select the related word/letters/number from the given alternatives.
&3 719 faehoat & @ Hefd e/ 3aRi/aEar i giav]
Donkey : Brays :: Monkey : ?

e : YR : Soel @ ?
Options:

1) Chatters

Tgehall

2) Trumpets

IECIECH

3) Bellows

IRSTAT

4) Grunts

YIYTAT

CRac}

Correct Answer: Chatters
Tqgehell
Candidate Answer: [ NOT ANSWERED ]

Question 2.Select the related word/letters/number from the given alternatives.
&3 T fashedl # O Tefetre Qee/37&RI/HETT Y YT

ABDE : FGIJ :: IILM : ?

Options:
1) NOQR

2) NOPQ
3) NMOP

4) NPQR
Correct Answer: NOQR
Candidate Answer: NOQR

Question 3.Select the related word/letters/number from the given alternatives.
&2 am3r fareentt 3 @ wafoud eree/ smwi/dear & 9T

1:8::7:64

Options:

1) 25

2) 36

3) 30

4) 27
Correct Answer: 27
Candidate Answer: [ NOT ANSWERED ]

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

T2 a1w farmedit 1 & fawe e/ 3R/ Weam gow Bifew |
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Options:
1) Swimming

2) Sailing
3) Diving

4) Driving
Correct Answer: Driving
Candidate Answer: Driving

Question 5.

For the following questions
Find the odd word/letters/number pair from the given alternatives.

T 71 feredl 7 & VA e/ 38R/ HEdT JIA BT |

Options:
1) RGTF

2) MLOK
3) CTES

4) VDZC
Correct Answer: VDZC
Candidate Answer: VDZC

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

&3 910 faehedl 7 I fawa Asey/ 38R/ &A1 J7H BifeN |

Options:
1) 443

2) 633
3) 821

4) 245
Correct Answer: 633
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per order in the dictionary
Tere=Afofe 2reel &1 Aseehrer # fT 1T shet & IR fargT|

1. Dyke 2. Dwindle 3. Dwell 4. Dye

Options:

1)3,2,4,1

2)1,34,2

3)2,134

4) 3,4,2,1
Correct Answer: 3,2,4,1
Candidate Answer: 3,2,4,1

Question 8.Choose the correct alternative that will replace the question mark in the given series:

TN v e AT 3 9ot s & T W fafan |
DHL, PTX, BFJ, ?

Options:

1) KOS

2) NRV

3) NPS

4) NRU
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Correct Answer: NRV
Candidate Answer: NRV

Question 9.Find the wrong number in the series:
GRS 7 ITeld HE&AT BifeT|
28, 33, 31, 36, 34, 29

Options:
1) 33

2) 36
3)34

4) 29
Correct Answer: 29
Candidate Answer: 29

Question 10.The age of Rakhi is twelve times that of her daughter Anubha. If age of Anubha is 3 years now, then what was the age of Rakhi, 2 years earlier?

T T 3 ST T (3T T I AT 12 T6T 8| I 37T Y 37 3 9 §1 A 2 F vgoer Ut B 397 /24w o ?
Options:

1) 20 years

20 3§

2) 34 years

349§

3) 30 years

30 9§

4) 36 years

36 a§

Correct Answer: 34 years

349§

Candidate Answer: 34 years
34av

Question 11.Satya's birthday falls on 15th August and Meena's birthday falls on 25th June. If Meena's birthday was on Wednesday, what was the day on Sathya's
birthday in the same year?

T A ARG 15 3T & 3R FAT &7 SFedAfest 25 ST 1 7T | AT HAT T ST JUAR 1 AT, AT FAT 1 SeAfeeT 381 a9 Fiel & a7 a7 ?
Options:

1) Friday

YA

2) Monday

AHAIR

3) Tuesday

HITGAR

4) Saturday

efearR

Correct Answer: Friday
?j’ﬁﬁﬂ

Candidate Answer: Monday
HFAR

Question 12.From the given words, select the word which can be formed using the letters of the given word.

fere=TfolerT ereel 7 & g Use AT ST T 91T eree; & 3ERT & TAT & TeATT S Febell § ?
AMPLIFICATION

Options:

1) ACTOR

2) MANOR

3) CHAMP

4) MANIA
Correct Answer: MANIA
Candidate Answer: ACTOR

Question 13.If BLACKSMITH is coded as CNBELUNKUJ, then CHILDREN will be coded as ?

3R BLACKSMITH & 18 CNBELUNKUJ & @ CHILDREN T &S 3T g1 ?
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Options:
1) DIJMESFO

2) DIJINETFP
3) DJINETEP

4) DJINETEP
Correct Answer: DJINETFP
Candidate Answer: DJINETFP

Question 14.If 17 + 17 = 2895
18 + 18 = 3245

19 + 19 = 3615

then23 +23 =7

gfe 17 +17 = 2895

18 +18 = 3245
19 + 19 = 3615

Aar23+23=7?

Options:
1) 5765

2) 2565
3) 4005

4) 5295
Correct Answer: 5295
Candidate Answer: 5295

Question 15.1In the following problem, '=" stands for '+' , '+' stands for '-', 'x' stands for '=', '-' stands for '+' and '+' stands for 'x'. Find the correct equation.

g (=) AT (2), (+) B AT (-), (X) T AT (=), (-) F AT (+), 3R (3) FT AT () &Y, AT TEY THR0T A1 PfSiw ?

Options:
1)8+4+1-5=6x4

2)4x6+4+4=7
3)5+3-25+20=20x39

4)96 +2x6+105+1
Correct Answer: 5 +3-25+20=20x39
Candidate Answer: 5 +3 - 25+ 20 =20 x 39

Question 16.Select the missing number from the given responses.

o WEAT 3 HITT ?

27 216 729

Options:
1) 432

2) 334
3) 512

4) 501
Correct Answer: 512
Candidate Answer: 512

Question 17.A man walked 9 km towards East and then 12 km towards South. How far is he from the starting point?

T 3TEAT 9 T A.gd &t 3R 38 are 12 6.7, afaor i 3% ST &1 38R uRee 3R fedw faeg % o & g i Hifie ?
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Options:
1) 8 km
8 fr.a.
2) 6 km
6 .2,
3) 15 km
15 f.a.
4) 7.5 km
7.5 fr.a.

Correct Answer: 15 km
15 .7,

Candidate Answer: 15 km
15 fm.a.

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.

Staff Selection Commision

Statement: Poverty is a symptom as well as a consequence of social disorder.

Assumptions: I. Poverty is a type of social order
II. Poverty is related to social order

TR vt F Ueh I1 Y aoFdey Y a1 &, forges 31 & Asehd/ATaT, 1 317 11 Aoy 713 &1 31m9en! faaR aelr § & aodeg acg § O
g THTT: AT T2 T et Tl T 8| IR ATy I & o /U 910 aoFdey 7 @ RiA-a1 RRaT & F TEY s /A=adT A hrell ST TehalT & ?

FYT : IS, HHATOTR ICHTEAT T T&10T TF TR 51
sy ; 1. TR AT STaERT T Ush TR gl
I1. T TR caeeT § HEafeyd &1
Options:

1) only I assumption is correct

Fael fashy [ @8

2) only assumption II is correct

ool sy 1 T 8

3) Both assumptions I and II are correct

gt fsey I 3R 11 @ér €

4) Neither assumption I nor II is correct

AT sy 1 T & 3% 1 & ARy 11

Correct Answer: Neither assumption I nor II is correct

AT ar sy 1 a8 & 3 1 & ARy 11

Candidate Answer: only assumption II is correct
el sy 11 G881

Question 19.How many squares are there in the square figure ABCD?

g9t ABCD ¥ frdet aot § 2

A B

D C

Options:
1) 16

2)17
3) 26

4) 30
Correct Answer: 30
Candidate Answer: 30
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Question 20.Find the part which represents those actors who are also singers

g ShisT AT AT § S SRATaT & 6 Y 31f@=ar & a8 e afr &1

— a

College
Students b (_\ PeEtors

Options:
1)a

2)b
3)c

4)f
Correct Answer:
Candidate Answer: c

Question 21.Which answer figure will complete the pattern in the question figure?

et A SR JTeR{cT TR Tt & TTeT hl G H ?

OO
Ol 92

Options:
1)

2)

3)

4)

Correct Answer:
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Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& T Seoll Tpicral # & 38 Sca¥ 3Mpial A Iiaw forasd geat 3mpiar fafea g1

Options:
1)

EI_l

AN

3)

Correct Answer:

AN

Candidate Answer:

D—’
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Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

R geeT STt 3 RET AR FETT I HSH, Fee T Eiew & 6 T¢ 3 St ATy St feams gam 2

Folding

Cut

Staff Selection Commision

Open

Options:
1)

Correct Answer:

Candidate Answer:

Question 24.Which of the answer figure is exactly the water image of the given figure?

& 718 3TpTerall # & 3ueret 3Ty 1 Sfef wiaIfey T @y ?

GROUP
649
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Options:
1)
CBONb
eta
2)
qNofo
ohe
3)
e<a
GBONb |
4)
are
qnoAD

Correct Answer:
e<a
CGKEONb
Candidate Answer:
e<a
CGEONb

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., G can be represented by 04, 40, etc., and 'K' can
be represented by 56, 75, etc.

Similarly you have to identify the set for the word 'NILE'

et weet # faswedt 7 RRw a1 dear-wp, 3&RT & ar a91t qan a2iie 1w §, S fo i fow a1w & amexggh 31 81 3megp 1 & acwe 3R Iferd i §ear 0 ¥ 4 ash &
a1 §, 3R 31regg 11 % 5 ¥ 9 Aeh, 51 HIeYgT ¥ Ueh I1&R hT UGl 3HenT Utered 31X A1G ¥ FT HEAT G@RT GRITAT ST HehelT § | 3816201 & ToIT, G T 04, 40, 311fe gaRT g=ffa
ST WERT & AT K 3T 56, 75, ATE GaRT SR ST FeheT § | ST G W 39T U 2eg 'NILE' & T g 1 Tt 51

Matrix -1 Matrix - Il
o 1 2z 3 4 5 6 7 8 3
a C D E F G 5 H K L 1 N
. 3 F a c D E 3 1 M H K L
2 D E F G C 7 K L | N H
3 E F G C o 8 L M H K
& G C [&] E F g N H ® L

Options:
1) 56, 58, 03, 02

2) 59,77, 85,43
3) 56, 62, 03, 02

4) 57, 60, 10, 02
Correct Answer: 59, 77, 85, 43
Candidate Answer: 59, 77, 85, 43
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Question 26.Trickle down theory ignores the impact of economic growth on

T Rgid (3o figia) ot 7 & fre oX 3nfie gfe & v i TR e aar e ?
Options:

1) Investment

aqer

2) Savings

Sad

3) Income distribution

3T faaver

4) Consumption

393197

Correct Answer: Income distribution

3T T
Candidate Answer: [ NOT ANSWERED ]

Question 27.The Comptroller and Auditor General of India does not audit the receipts and expenditure of

HRA & o Toh-FgroaTaieTsd Aefarad # & e mitadr 3R sa Fr or@maeT 781 3 ?
Options:

1) Central Government

&g WWHR

2) Local Bodies

e e

3) State Government

T AR

4) Government Companies

WHER FFAfAAT

Correct Answer: Local Bodies

T AR

Candidate Answer: Local Bodies

T He

Question 28.In which year did the Kakori conspiracy case take place?

maﬁfrqusrﬂmwﬁma’éﬁgm?

Options:
1) 1925
2) 1924
3) 1926
4) 1927

Correct Answer: 1925
Candidate Answer: [ NOT ANSWERED ]

Question 29.The Taj Mahal is called 'a dream in marble'. Which monument is called as 'a dream in stone'?

TS A ol 'TIFFR 7 T (a dream in marble) gl ST § ? vl TARS AT ' Ie2R A T FHgl ST & ?
Options:

1) The Rang Mahal

T Hger

2) The Panch Mahal

REE

3) The Red Fort

et famerr

4) The Bahai temple

TETS AfET

Correct Answer: The Panch Mahal

9 Hgel

Candidate Answer: [ NOT ANSWERED ]

Question 30.Sex-ratio in India is measured as

AR # TolT 31eTITer Y 0T 3 T S & 2
Options:

1) Number of males per thousand females
i g &t o) et & ear

2) Number of females per thousand males
i gk gt oY st & wean

3) Number of males per hundred females
wfer & et R it 7 Her

4) Number of females per hundred males

wifer @t gt o¥ et o wear
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Correct Answer: Number of females per thousand males
wfel gk gt oY et i dean

Candidate Answer: Number of females per thousand males
ofel gTR gt oY et i dean

Question 31.Companion cells are unique to

TETR HIRNAT HeAfardd 7 F % haa & 2
Options:

1) Bryophytes

FREBC

2) Pteridophytes

RewTE

3) Angiosperms

wfesraTETs (3Mgadist)

4) Gymnosperms

FeArETeT (3reTTgasion)

Correct Answer: Angiosperms
oot (3Tgadion)

Candidate Answer: [ NOT ANSWERED ]

Question 32.Which one of the following is an insulator?

el & & Far fegd-aeh § 2
Options:

1) Copper

GIEN

2) Wood

GEEl

3) Mercury

IR

4) Aluminium

rgfAATa

Correct Answer: Wood
ohar

Candidate Answer: Wood
GEX)

Question 33.Bubbles of air rise up through liquids due to:

forer 0T A ag & oG ol T H 35 § ?
Options:

1) Surface tension and adherence

gse-aela 3R 3T

2) viscosity and buoyancy.

<1 3R 3eqera

3) air current over the liquid and buoyancy
R ger IR aTg e 3R Ieqerd

4) Up thrust and surface tension.

3819 3R I8 et

Correct Answer: viscosity and buoyancy.
21T 3R 3cqera

Candidate Answer: Up thrust and surface tension.
3819 3R I3 T

Question 34.Zeolite is

Sese Farg ?

Options:

1) hydrated ferric oxide

g123¢s B HTFaEs

2) hydrated sodium aluminium silicate

F33cs TR vegfaferas fafere

3) sodium hexameta phosphate

AT TFAFT BIEhe

4) sodium tetra borate

AfsaH Tareike

Correct Answer: hydrated sodium aluminium silicate
grsses Aiftaw vfAfaas fafoee

Candidate Answer: hydrated sodium aluminium silicate

F53es AIsaH vegfafaas faferre
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Question 35.The boiling point of liquids vary as

TR HROT A del Uerdf & Fa2=ties (boiling point) & f&==aT Iy & ?
Options:

1) pressure varies

e & fReerar

2) temperature varies

AR 7 fRearar

3) volume varies

3madd # Fedar

4) density varies

gedcd H f@eetar

Correct Answer: pressure varies
e H Reetar

Candidate Answer: pressure varies

T & fAeatar

Question 36.The largest source of pollution in the world is

TR # YEWUT T Gl 957 HidT HlA-A1 8 ?
Options:

1) herbicides and insecticides

MehaATRY 31 re=reit

2) Automobile exhausts

TS & ey aTe 3

3) Sewage and garbage

3T 3R T

4) Industrial effluents

Sl afg-aa

Correct Answer: Sewage and garbage
EEELE

Candidate Answer: Automobile exhausts
AT & forehofet Tl 4310

Question 37.Among the following states, the literacy rate is highest in

i@ Tl 7 ¥ wafog aRaT X fra =T 7§ ?
Options:

1) Orissa

EIEGH

2) Punjab

EEIC)

3) Maharashtra

HERTSE

4) Mizoram

[GERG)

Correct Answer: Mizoram

[GEIECH
Candidate Answer: [ NOT ANSWERED ]

Question 38.The minimum number of members that must be present to hold the meeting of the Lok Sabha is

AT T Joh AT A & AT ~gAdH el Fear 7 Feey 3ufqyd g =@fee ?
Options:

1) One-fourth of the total membership

Fol FEECT &l Teh-TlIUTS

2) One-tenth of the total membership

Fol FEECT 1 SHaT 13T

3) Fifty percent strength of the Lok Sabha

SREHT T A ufaerd TEar

4) At least hundred members

eTead Gt Hew

Correct Answer: One-tenth of the total membership
Fel FETICIT T ST $13T

Candidate Answer: [ NOT ANSWERED ]

Question 39.India's population growth is characterized by

IR # STHET gig a1 AT § ?
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Options:
1) An increase in rate of death
TIRAL
2) An increase in the ratio of females
Afen3it & 37T # iy
3) An increase in the birth rate and declining death rate
SR A g T g R A A
4) Increasing number of old people
& ST T TGl TEdr
Correct Answer: An increase in the birth rate and declining death rate
SH-CX H i Theq Hog e A el
Candidate Answer: An increase in the birth rate and declining death rate
SeA-eT A I o] Fcg o A Fall

Question 40.What will you call a system of taxation under which the poorer sections are taxed at higher rates than the richer sections?

37T U T YOTRN ol T hgdl Toraet fovelet et o &y aet T 3198 318 Y ohemT ST & ?
Options:

1) Progressive tax

TR X

2) Proportional tax

TR

3) Regressive tax

LTI

4) Degressive tax

3RS F

Correct Answer: Regressive tax
I X

Candidate Answer: Degressive tax
37achiHS X

Question 41.The most important function of an interest group is to

el fecTerg I[c & T FHgea oT F FATEIAT Y ?
Options:

1) form the government

TP elledT

2) alter government policies to its liking

I THE & ITER TREHRT ATt 7 aRacder

3) build up public opinion

STAHT FeTToll

4) Contest elections

TAT ST

Correct Answer: alter government policies to its liking
YT TS & HFAR TRHNT hferdt & gRacter
Candidate Answer: [ NOT ANSWERED ]

Question 42.Which among the following is not correctly paired?

foreTa 31 & Hler-ar gae Gl g1 & 2
Options:

1) Shivaji-Afzal Khan

RIaTsil-31eter @r

2) Nurjahan-Mahabat Khan
GREREERRC])

3) Akbar-Rana Pratap

3TheX-X0T I

4) Babar-Bairam Khan

TR-RA @I

Correct Answer: Babar-Bairam Khan
ITER-RA @I

Candidate Answer: [ NOT ANSWERED ]

Question 43.Which of the following deserts is rich in gold reserves?

il & O e YA 3 37caneies AET 7 TaoT $i5R 9T SIar § ?
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Options:
1) Arabian
3RS
2) Thar
AR
3) Mongolian
FHanform
4) Atacama
S{TCTRTAT
Correct Answer: Atacama
S{TCTRTAT

Candidate Answer: [ NOT ANSWERED ]

Question 44.Lacrymal glands are situated in the

30y e gl e gl & 2
Options:

1) Palms

gafoi &

2) Buccal cavity

T AR

3) Eye orbit

EEEIE:)

4) Stomach

JeH

Correct Answer: Eye orbit
EEEIIE:)

Candidate Answer: Buccal cavity

9 TR
Question 45.The most extensive use of molasses after fermentation is for producing

fRUae & T2TTT FE SATF T H "Ard” FT 523197 Fefafd & F F1 IR Fe & o Far sarg ?

Options:

1) Methanol

AdATT

2) Sugar

Gici

3) Ethanol

VAtver

4) Sugarcane

Eies

Correct Answer: Ethanol
P

Candidate Answer: [ NOT ANSWERED ]

Question 46.Acid rain is caused due to pollution of atmosphere by

31 T farA Tl 71 3 s g gu yeuor A gl & 2

Options:

1) oxides of nitrogen and sulphur

AT 3R TR F JHTFass &

2) oxides of nitrogen and phosphorous

ATSeIs 3R BRBRYE & 3iTFass o

3) oxides of carbon and nitrogen

FIeT 3T ARSI & 3HTFaEs T

4) oxides of nitrogen and methane

ATserste 3R WA & 3iFaEs I

Correct Answer: oxides of nitrogen and sulphur
AR 3R T F ifFaes &

Candidate Answer: oxides of nitrogen and sulphur

SISt 3R o & iaass &

Question 47.The dispute over Siachin Glacier is between

TR TAfRIAR At ol et it & ey faarg § 2
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Options:
1) India and China
IR 3R AT
2) India and Afghanistan
AR IR AFMTATATT
3) India and Pakistan
R 3R wfreaeT
4) India and Nepal
IR 3R AqTer
Correct Answer: India and Pakistan
R 3R wfreaeT
Candidate Answer: India and Pakistan
AR 3R wifereara

Question 48.Who wrote the famous line: 'A thing of beauty is a joy forever'

g Ji8g Ferell forefet Tl & : "A thing of beauty is a joy forever”
Options:

1) John Keats

Sl P

2) V.S. Naipaul

dr.ug. Arsure

3) Sir Richard Burton

W Ras gé&1

4) Larry Collins

o FifoT

Correct Answer: John Keats
ST e

Candidate Answer: John Keats
SiieT e

Question 49.Who was the first lady Governor of an Indian State?

R AR T T 92 AT ToTdTel Het o ?
Options:

1) Mrs. Sucheta Kripalani

A T et

2) Miss Padmaja Naidu

F. TSN A

3) Mrs Tarkeswari Sinha

AT dRERRad Regr

4) Mrs. Sarojini Naidu

AT TS AT

Correct Answer: Mrs. Sucheta Kripalani
AAT AT ForeleAr

Candidate Answer: [ NOT ANSWERED ]

Question 50.Which of the following is an application protocol?

AFATET 7 & -7 viCaae diewkid § ?

Options:
1) HTTP

2) TCP
3)1P

4) UDP
Correct Answer: HTTP
Candidate Answer: [ NOT ANSWERED ]

Question 51.A clock gains 15 minutes per day. If it is set right at 12 noon, the time it shows at 4 AM is

TS U3 T et 15 fAeTe 31T 81 ST §1 I7E 30 QX 12 Fof TET AT Heh TelldT ST &, dT ITd: 4 §oF ag a7 Ty fG@resty ?
Options:

1) 4.20 AM

4.20 91d:

2) 4.30 AM

4.30 9T

3) 4.02 AM

4.02 9TcT:

4) 4.10 AM

4.10 9TcT:
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Correct Answer: 4.10 AM
4.10 9T

Candidate Answer: 4.02 AM
4.02 9Td:

Question 52.A home theatre set is Rs. 4950. If two successive discounts of 20% and 15% are given, then its selling price is

T 81 4T A Rs. 4950 HT &1 IS 30 9T 20% 3 15% I & 6ok P & S Y 38T [&sh e &7 g1am ?
Options:

1) Rs.3366

2) Rs.6633

3) Rs.3636

4) Rs.6363
Correct Answer: Rs.3366
Candidate Answer: [ NOT ANSWERED ]

Question 53.If 15% of x is three times of 10% of y, then x:y =

FiE X T 15% , y & 10% 1 AT 8, &Y x : y Fobereh SRIe gl ?
Options:

1) 1:2

2)21

3)3:2

4)2:3
Correct Answer: 2:1
Candidate Answer: 2:1

Question 54.A bookseller bought 500 text books for [ 20,000. He wanted to sell them at a profit so that he get 50 books free. At what profit percent should he sell
them?

Tl gcTeh fashell & 500 91T G&cTsh 1 20000 #H GET| G 3v¢ T oY TR Sl WGl & dlfeh 38 50 qEdeh fol:qfoeh TS| 38 fehctay Gicrere oy ux 379t qcreh Srereir
afew ?

Options:

1)10

2)20

3)15

4) 10.5
Correct Answer: 10
Candidate Answer: 10.5

Question 55.20% of a man's salary is paid as rent, 60% are his living expenses and 10% are his savings. If he spends remaining (1 30 on the education of his
children, find his salary

TRl TR & ddeT & 20% $TRT R0 O @ 81T &, 60% 19T SNaeT-AT9+T O T 81aT & 31X 10% 9111 Y a8 sad aar &1 Ife ag A 0 30 seat &7 Ry ) T &,
3G A P g ?

Options:
1) 300

2) 900
3) 3000

4) 9000
Correct Answer: 300
Candidate Answer: 300

Question 56.A gun is fired at a distance of 6.64 km away from Ram. He hears the sound 20 seconds later. Then the speed of sound is

T dogeh A H 6.64 76,7, 1 g8 & el SATelr &1 T 20 VU F18 3HRT JATaTeT (Lafer) Goirr &1 39 eafay S afay g ?
Options:

1) 664 m/s

664 #./3.

2) 664 km/s

664 f&.37./3.

3) 332 m/s

332 #/3.

4) 332 km/s

332 f.a/a.
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Correct Answer: 332 m/s
332 #/4.

Candidate Answer: 332 m/s
332 #/4.

Question 57.The simple interest on Rs. 2000 for 2 years at Rs. 75 per thousand per annum will be

Rs. 2000 WX Rs. 75 T &R a1f¥eh ex WX 2 9§ T HTLRUT sITST 4T 19T ?

Options:
1) Rs.150

2) Rs.300
3) Rs.600

4) Rs.400
Correct Answer: Rs.300
Candidate Answer: Rs.300

Question 58.If x = 1 + V2 + V3, then the value of x - 2x - 4 is

IR x =1+ V2 + V3@l arx? - 2x - 4 &l Hief g ?
Options:

1)v6

2)2V3

3) 3v2

4) 2v/6
Correct Answer: 26
Candidate Answer: [ NOT ANSWERED ]

Question 59.

If, tath) = g , then the value of (a- b} is

Vab

gt @+b) _ 2 Fidia-p)

Jab 1
T T T 5 2
Options:
1)1
2)0
3)-1
4)2

Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 60.If AABC is an equilateral triangle of side 16 cm, then the length of altitude is

3fg AABC 16 A.77. $IT Tl FASTE FHI0T &, ar BT o 3ars §7aT ?
Options:

1) 23 cm

2V3 oA

2) 4/3 cm

4V3 T

3)8v3cm

8V/3 T

4) 5v3 cm

5v3 &

Correct Answer: 8v3 cm
8V/3 T

Candidate Answer: [ NOT ANSWERED ]

Question 61.0 is the circumcentre of AABC. If AO = 8 cm, then the length of BO is

AABC &7 O uReheg §1 g AO = 8 .. @, dt BO &1 oiTs §/cTd ?
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Options:
1) 12 cm
12 7.7
2)3cm
3 3.
3)6cm
6 WA
4)8cm
8 T

Correct Answer: 8 cm

8 q.A.

Candidate Answer: 8 cm
8 T

Question 62.Given that tan( + 15°) = V3. Then the value of 8 is?

IIB‘HHT-TEUﬁFtan(G+ 15°) = /3, AY 0 &I AT TdTT ?

Options:
1) 15°

2) 75°
3) 45°

4) 65°
Correct Answer: 45°
Candidate Answer: [ NOT ANSWERED ]

Question 63.The least number of square tiles of side 41 cms required to pave the ceiling of a room of size 15m 17cm long and 9m 2 c¢m broad is:

15 Frex 17 J.3h. o 31X 9 31X 2 A7, TS FoR T od T & T 41 F.7. B el =415 [hdsil JeMHR e T ATaegerdT gl ?

Options:
1) 902

2) 656
3) 738

4) 814
Correct Answer: 814
Candidate Answer: 814

Question 64.The average of fruits offered in a temple in a week was 75. The average of fruits offered in six days excluding Tuesday was 72. How many fruits were
offered on Tuesday?

el Afeex H Teh Todig H 3T 75 Hel TSIV 1T | FHITAR Dl BI5 I AV 6 &A1 # 3T 72 Bl T 9T | FIGAR & [T fShcdal Tl TeIv 7w ?

Options:
1) 90

2) 93
3)72

4) 92
Correct Answer: 93
Candidate Answer: 93

Question 65.
11 -1 1
Ifa=x3y3+x3y3,then a3 — 3ay — x is equal to

gfe a= x%y X y’§ ,ET ar a3-3ay-x ToREsh ataT B’I’cl'IT
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Options:
1)

Correct Answer:

¥

X
Candidate Answer: [ NOT ANSWERED ]

Question 66.
n’x+E =5, then the value of 7L is,
x xc4x+1

1 6x
aMex+ x=sA A T a7

& O gdgy ?

Options:
1)1

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 67.Ifa > b > 0, AB = a - b cm, BC = 2vab cm, then 2ABC is

Ifg a>b>0, AB = a - b A.., BC = 2Vab J.71.8Y, A LABC T AT 4T 11 ?

Options:
1) 45°

2) 60°
3) 90°

4) 120°
Correct Answer: 90°
Candidate Answer: [ NOT ANSWERED ]

Question 68.PR is a tangent to a circle with centre O and radius 4 cm at point Q. If zPOR = 90°, OR =5 cm and OP = 20/3 c¢m, then the length of PR is:

PR, O g aTel gt oht e9e Yam § X Q aiwg o T 4 B0#M0 &1 A& 2POR = 90°, OR = 5 WA 31 OP = 20/3 A.#. &1 alY PR &Y oallS qA1sU ?
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Options:
1)3cm
2)

Correct Answer:

25
g o1t

Candidate Answer: [ NOT ANSWERED ]

Question 69.From a point, 40 m apart from the foot of a tower, the angle of elevation of its top is 60°. The height of the tower is

T AR % MR & 40 FAieX T gl R, T Feg F, FAR & M 31T &7 eeaeT HI0T 60° &1 HAR T 57216 qAST ?

Options:
1) 40v3
40v3

2) 40v3 cm

40v3 @
3)40vV3 m
40vV3 7.
4)40vV2 m
40v2 .

Correct Answer: 40v3 m
40v3 AN

Candidate Answer: [ NOT ANSWERED ]

Question 70.The radius of a sphere and hemisphere are same. The ratio of their total surface area is

Tl oo AR Jrefaliores S FSaT Ueh THIA § | 37 Fol TG & &Il &l eIl T ?

Options:
1) 3:1

2) 2:1
3)3:2

4) 4:3
Correct Answer: 4:3
Candidate Answer: [ NOT ANSWERED ]

Question 71.Two equal arcs of two circles subtend angle of 60° and 75° at the centre. The ratio of the radii of the two circles is

2 gealt &1 A TSR T =AM, Feg 7 60° R 75° & PV el FA & | Sl JeclT Y AT T 3FTAT FT gl 2

Options:
1) 5/4

2) 3/2
3)4/5

4)2/3
Correct Answer: 5/4
Candidate Answer: [ NOT ANSWERED ]
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Question 72.Study the following graph carefully and answer the questions

Tl A1 & e ¥ 98, 3R Reafai@d w2t & 3ca? &fore|

70
60

60 55

50 45
£ 40
g 30
5 30 25
a.

20
20
10
0 .
A B C D E F

State

Which state has the maximum percentage of electrified villages?

e T 7 3TShaa yfaed aia & e & ?

Options:
1)B

2)C
3)D

4)F
Correct Answer: C
Candidate Answer: C

Question 73.Study the following graph carefully and answer the questions

ARfET I Fr eaa A 98, 3R Pefaf@d geat & 3car QfFT]

70
60

60 55

50 45
¥ 40
L 30
5 30 25
a

20
20
10
0 k
A B o D E F

State

If the Central Government desires to give aid for speedy electrification starting from states with least electrification, which state will get fourth rank in order of
priority?

aﬁmmmﬁmaﬁﬁﬁvmamm%mwmﬁﬁmﬁmmmﬁiﬁaaTmuﬁm%amﬁﬁﬁwwa#h—wmgﬁm?
Options:

1)F

2)C

3)E

4)B
Correct Answer: F
Candidate Answer: F
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Question 74.Study the following graph carefully and answer the questions

AR I Fr e A 93, 3R Aefaf@d geat & 3car dfaT|

70
60

&n 55

50 45
£ 40
g 30
5 30 25
& 20

20

10

0 |
A B c D E F

State

How many States have at least 60% or more electrified villages?

hde T5T T & T3 A T HF 60% mm?ﬁa#ﬁaﬁrqﬁiﬁ‘s‘?
Options:

1) Five

are

2) Three

GGl

3) Four

iy

4) Two

ar

Correct Answer: Three

Gic

Candidate Answer: Three

e

Question 75.Study the following graph carefully and answer the questions

=l I #r eaa A 93, 3R Peafaf@a geat & 3car §fSw)

70
60

60 55

50 45
¥ 40
L 30
5 30 25
@ 20

20

10

0 ;
A B o D E F

State

Which state has twice the percentage of villages electrified in comparison to state D?

e 53 3 D o3 &1 ot 3 FrsTelr e amvalt & wfcrer gereT § 2
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Options:
1)A

2)E
3)F

4)C
Correct Answer: C
Candidate Answer: C

Question 76.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Conniosseur

2) Connoisseur

3) Connossieur

4) Connosseiur

Correct Answer: Connoisseur
Candidate Answer: Connossieur

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

SOOTHE
Options:

1) QUENCH
2) MITIGATE
3) HEAL

4) AGITATE

Correct Answer: AGITATE
Candidate Answer: MITIGATE

Question 78.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

DEVASTATION
Options:

1) DESTRUCTION
2) CONSTRUCTION
3) SEPARATION

4) FRUSTRATION

Correct Answer: DESTRUCTION
Candidate Answer: DESTRUCTION

Question 79.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An exact copy
Options:

1) Facsimile
2) Twin

3) Mirror

4) Clone

Correct Answer: Facsimile
Candidate Answer: Facsimile

Question 80.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

To give money to agents for sales.
Options:

1) Salary

2) Commission

3) Fee

4) Incentive

Correct Answer: Commission
Candidate Answer: Commission

Question 81.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person who is working in the same institution.
Options:

1) Guide

2) Collector

3) Captain

4) Colleague

Correct Answer: Colleague

Candidate Answer: Colleague
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Question 82.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Cat-nap

Options:

1) Rest

2) Fitful sleep

3) Long sleep

4) Short sleep

Correct Answer: Short sleep

Candidate Answer: Short sleep

Question 83.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To pull a long face

Options:

1) Looked happily

2) Looked surprised

3) Looked sad

4) Looked calm

Correct Answer: Looked sad

Candidate Answer: [ NOT ANSWERED ]

Question 84.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Fit her like a glove.
Options:

1) Too large

2) Too shabby

3) Too tight

4) Perfectly

Correct Answer: Perfectly

Candidate Answer: Perfectly

Question 85.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Health is too important to be
Options:

1) discarded

2) disposed

3) neglected

4) detested

Correct Answer: neglected
Candidate Answer: neglected

Question 86.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Iam this crime.
Options:

1) ignorant on

2) innocent of

3) indebted to

4) ignoring

Correct Answer: innocent of
Candidate Answer: ignorant on

Question 87.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I was paying the toll tax.
Options:

1) free from

2) exonerated from

3) exempted from

4) exposed to

Correct Answer: exempted from
Candidate Answer: exempted from

Question 88.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

I used (A)/ a pair of black trousers (B) / for a week (C)/ No error (D)
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Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: [ NOT ANSWERED ]

Question 89.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

He has made a mistake (A)/ of which (B) / I am certain (C) / No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: B

Question 90.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

He was not allowed (A) / for the teacher (B) / to read in a low voice (C) / no error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 91.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

Why did the narrator not bear a grudge against her mother?
Options:

1) She felt that her mother had that kind of nature

2) She was satisfied with her father's love

3) Her mother was incapable of loving

4) Her mother was angry with everyone

Correct Answer: She felt that her mother had that kind of nature
Candidate Answer: She felt that her mother had that kind of nature

Question 92.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

The narrator's mother reverted to her old self because
Options:

1) she fought with her husband

2) she did not feel comfortable in revealing her emotions
3) she was angry with the children

4) her husband wanted her to be her old self

Correct Answer: she did not feel comfortable in revealing her emotions
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Candidate Answer: she did not feel comfortable in revealing her emotions

Question 93.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

The narrator's mother didn't appreciate the narrator's results because
Options:

1) the marks were not good

2) the marks could be better

3) she wasn't very expressive

4) she was tense

Correct Answer: she wasn't very expressive

Candidate Answer: she wasn't very expressive

Question 94.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

How is the narrator's dad different from her mother?
Options:

1) He is dark

2) He expresses his feelings openly

3) He dislikes children

4) He is persuasive in nature

Correct Answer: He expresses his feelings openly
Candidate Answer: He expresses his feelings openly

Question 95.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

Why was the narrator's mother not expressive of her love?
Options:

1) She was of Chinese origin

2) It was not her nature

3) She was a harsh person

4) The tradition at her home didn't allow her.

Correct Answer: The tradition at her home didn't allow her.
Candidate Answer: It was not her nature
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Question 96.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

Both of us had a different opinion about it.
Options:

1) Both of us has

2) Each of us had

3) Each of us have

4) No improvement

Correct Answer: Each of us had

Candidate Answer: No improvement

Question 97.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The trade union is hell bent at getting its demands fulfilled
Options:

1) hell bent in

2) hell bent about

3) hell bent on

4) No improvement

Correct Answer: hell bent on

Candidate Answer: hell bent about

Question 98.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The police had to break the door to getin
Options:

1) to break up

2) to break in

3) to break down

4) No improvement

Correct Answer: to break down

Candidate Answer: to break in

Question 99.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The plane landed and shot towards the airport
Options:

1) taxied

2) drove

3) wheeled

4) No improvement

Correct Answer: taxied

Candidate Answer: [ NOT ANSWERED ]

Question 100.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

After a hard days work, I just want to go home.
Options:

1) hard day's work

2) hard days' work

3) hard day work

4) No improvement

Correct Answer: hard day's work
Candidate Answer: hard day work

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjc=&appid=1a4fff78943b24af40c79deccf09bb87 27127



